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          Round 2

Toss-ups
1. One part of this work argues that governments will always prefer to borrow money rather than increase taxes when funding wars. Another section deals with the progress of opulence and discusses the aftermath of the fall of the Roman Empire. That section also discusses the superiority of industry over agriculture, and the concept of division of labor is illustrated by a pin factory. This work attacks mercantilism and protectionist tariffs, and argues that individuals are led by an "invisible hand" to benefit society. For 10 points, name this treatise on economics by Adam Smith.
ANSWER: An Inquiry into the Nature and Causes of the Wealth of Nations
2. Adiabatic cooling causes the Santa Ana or Diablo varieties of this phenomenon. Barbs on the sides of Stüve diagrams indicate one of their properties, and station models use flags on tails to plot their magnitude. Its speed is measured with an anemometer and described using the Beaufort scale, and this phenomenon is weak or nonexistent in the doldrums. Jet streams are a type of these, and unequal heating of the surface of the Earth gives rise to sea and land varieties. For 10 points, name this movement of air from high pressure to low pressure which is utilized by sailboats.
ANSWER: Winds
3. In this movie, one character cuts himself after giving a short speech about a wolf pack. Eddy cannot annul a marriage without Jade present in this work, and Leslie Chow is found in the trunk in one scene. One character in this movie warns that “everything that happens in Vegas will stay in Vegas, except herpes.” The main characters illegally obtain a police car and wake up to find Mike Tyson’s tiger in their bathroom. For 10 points, name this movie in which three friends lose their friend Doug in Vegas and manage to get to a wedding on time.

ANSWER: The Hangover
4. This ruler’s first wife was Eudoxia Lopukhina, but he forced her to become a nun ten years after their marriage. The Bulavin Rebellion occurred during this man’s reign. This ruler gave a portrait of himself as a gift to William III, and established his country’s first naval base, which was named Taganrog. This ruler went on a tour in the West with his “Grand Embassy,” and upon his return, he imposed a beard tax on his people. He won the Battle of Poltava, forcing Charles XII to flee into the Ottoman Empire. For 10 points, name this Russian tsar who won the Great Northern War and built St. Petersburg.

ANSWER: Peter the Great [accept Peter I]

5. The protagonist of this work meets the daughter of Pope Urban X on his voyage to enlist in the Spanish Army. He and his companions are robbed in Cadiz, and the protagonist buys his freedom from the police with diamonds in Paris. He later encounters his former servant Cacambo, who instructs him to go to Constantinople. The title character and Pangloss are accused of causing an earthquake at Lisbon, and early in this work, he is thrown out of Baron Thunder-ten-Tronckh's castle for kissing Cunegonde. For 10 points, name this work by Voltaire.

ANSWER: Candide
6. This figure once disguised someone as Gorlois. As a child, he was almost sacrificed by Vortigern, but he saved himself by telling the king of a vision in which a white dragon defeats a red dragon. In one story, he was seduced and betrayed after mentoring Vivien. His downfall was arranged by Morgana le Fay, and according to legend, he built Stonehenge. This figure designed the Round Table, and he was a friend and adviser of Uther Pendragon. The creator of the test of the sword in the stone, For 10 points, name this legendary magician who advised King Arthur.

ANSWER: Merlin
7. The Royal Council of the Throne determines the king of this country, who currently is Norodom Sihanouk. Its capitol was moved from Longvek to Udong in 1618, and Lon Nol ruled this country until 1975. One leader of this country tried to cleanse the country and start over with a “Year Zero.” This nation became a French Protectorate in 1866, and was later renamed “The Republic of Kampuchea” by Pol Pot during the rule of the Khmer Rouge. For 10 points, name this Southeast Asian kingdom containing Angkor Watt with a capitol at Phnomh Phen.

ANSWER: Cambodia [accept Republic of Kampuchea before mentioned]
8. The bifurcated variety of these entities are present in beta-sheets, and they are considered electrostatic attractive forces rather than dispersive ones. They are responsible for the stability of alpha helices, and they keep nucleotides in DNA bonded together. These entities form between nitrogen, fluorine, or oxygen and a namesake element, and account for the high boiling point of water. For 10 points, identify these interactions named for the element that must be present for them to occur.

ANSWER: Hydrogen bond
9. This composer of Twelve Etudes formulated his “21-note scale,” and he wrote a pair of works for piano called Two Arabesques. He wrote a French counterpart to Mussorgsky’s The Nursery, one section of which is “Golliwogg’s Cakewalk.” This composer of Children’s Corner wrote an opera featuring Prince Gollaud, Pelleas et Melisande, and a flute solo represents the title character in his composition based on a Stephen Mallarme poem. “Play of the Waves” is one of the movements in another of this composer’s works. For 10 points, name this French composer of La Mer, “Clair de Lune,” and Prelude to the Afternoon of a Faun.

ANSWER: Achille-Claude Debussy
10. In one play by this author, Max and Charlotte star in a play by Henry entitled House of Cards, while in a different play, Henry Carr recounts his experiences meeting James Joyce and Vladimir Lenin. This author of The Real Thing and Travesties wrote a play in which Higgs and Moon are shot by Puckeridge. Septimas teaches science to Thomasina in his Arcadia, and this author of The Real Inspector Hound wrote a play in which a coin comes up heads many times in a row. That work ends with the two title characters from Hamlet being killed. For 10 points, name this author of Rosencrantz and Guildenstern are Dead.

ANSWER: Tom Stoppard [accept Tomas Straussler]

11. This country is home to the largest waterfall in Europe, Dettifoss. The largest national park in Europe contains the former Skaftafell National Park in this country. Its largest airport is named Keflavík, and its second largest city is Akureyi. With its source at Hofsjökull, Thjorsa is this country’s longest river. Eight percent of this country is covered by Vatnajökull, the largest glacier in Europe. This island nation is located on the Mid Atlantic Ridge, and the island of Surtsey is its southernmost point. For 10 points, identify this Scandinavian nation with capital at Reykjavik.

ANSWER: Republic of Iceland [accept Lydveldid Island]

12. One character in this work uses an analogy of a deaf and blind ship owner to demonstrate that true knowledge is viewed as useless by society. Another man in this work refutes an argument using a comparison of the soul to a virtuous city. Glaucon argues that virtue is not its own reward with the legend of the Ring of Gyges, and this work posits that Philosopher-kings would rule an ideal government. It contains the story in which a group of shackled prisoners see shadows against a wall. For 10 points, name this work containing the allegory of the cave, a work by Plato that describes the city-state.

ANSWER: The Republic [accept Politeia]

13. One poem by this author features a series of italicized stanzas in which a pair of birds sing songs on Paumanok. The conclusion of that poem focuses on the sea singing to the “solitary me” about death. This poet of “Out of the Cradle Endlessly Rocking” wrote “Flood-tide below me! I watch you face to face” in “Crossing Brooklyn Ferry.” Another of his poems concludes with the lines “But I / with mournful tread / Walk the deck my Captain lies, Fallen cold and dead,” and that poem was written after the assassination of Abraham Lincoln. For 10 points, name this poet who wrote “O Captain! My Captain” and Leaves of Grass.

ANSWER: Walt Whitman
14. This phylum’s members have a pair of pouches that split from the archenteron, with each pouch constricting into three portions. Members of this phylum draw in water through madreporites, which are a part of their water vascular system, and they move by utilizing hydrostatic pressure to move five rows of tube feet. Some species in this phylum have their teeth arranged in a structure called “Aristotle’s lantern.” This phylum includes the classes Holothuroidea and Asteroida, and species in this phylum exhibit radial symmetry. For 10 points, identify this phylum which includes sea urchins and sea star, whose name means “spiny skin” in Greek.

ANSWER: Echinodermata

15. This man became an emperor by assassinating Bardiya with the assistance of six other nobles, and the Behistun inscription details this man’s suppression of eight “lying kings” shortly after he came to power. He divided his empire into twenty satrapies, and introduced Zoroastrianism as the state religion of his empire. This ruler sent his brother-in-law Mardonius to punish Athens and Eretria for supporting the Ionian revolt. For 10 points, name this Persian emperor who lost at the Battle of Marathon and was succeeded by his son, Xerxes I.
ANSWER: Darius I [accept Darius the Great of Persia; prompt on Darius]

16. The protagonist of this work proves his identity to his father by mentioning a fruit tree from his childhood. A ship turns into a stone and sinks to the bottom of the ocean in this work, and the protagonist forbids his wife from moving their bridal bed made from an olive tree. A man named Elpenor falls off a roof and dies in this work, and a maid recognizes her master’s scar, which he received on a boar hunt. The dog Argos greets his master in this work, and the protagonists’ followers are killed for eating the sacred cows of Helios. For 10 points, name this work about the father of Telemachus returning from the Trojan War, a work of Homer.

ANSWER: Odyssey [accept Odysseia]

17. The Einstein model of solids considers each atom as a quantum mechanical version of one of these systems. They can be classified using a quantity given by 2 pi times the energy stored over the energy dissipated, also known as the Q factor. These systems may undergo damping, and the frequency of these objects is equal to the square root of the stiffness k over mass. Pendulums are an example of these systems at small amplitudes, and they can be described mathematically by setting Newton’s Second Law equal to Hooke’s Law. For 10 points, name these objects, exemplified by a mass on a spring.
ANSWER: Simple Harmonic Oscillators [accept Simple Harmonic Oscillation or Simple Harmonic Motion or SHO or SHM; prompt on partial answer]

18. A figure can be seen under a yellow building in this painting, and a white cross appears above that building. A man wears a ring on his index finger in this painting, and an upside-down woman plays a violin on the top right. Next to her is a man walking with a scythe, and a glowing tree appears in the hand of a man on the bottom. A woman milks a goat on the left of this painting, and the face of a large green man wearing a necklace appears on the right. For 10 points, name this painting involving Yiddish and Russian folk themes, a work by Marc Chagall.

ANSWER: I and the Village
19. God once instructed this figure to put his hand in his chest, causing it to become white as snow. This younger son of Amram threw a tree into the water of Marah in order to make it drinkable, and he aided the seven daughters of the shepherd Jethro in Midian. This brother of Miriam once brought forth water by striking a rock with his staff, and he killed an Egyptian overseer for beating a slave. The brother of Aaron, he once saw God in the guise of a burning bush.  For 10 points, name this figure who led the Israelites out of Egypt and received the Ten Commandments.

ANSWER: Moses [accept Moshe]
20. Prior to this event, James McLaughlin overturned an idea to use Buffalo Bill to prevent violence. A contributing factor to this event was the prophet Wovoka and his visions of the end of white expansionism, and violence during this event was partially caused by difficulties encountered when attempting to disarm Black Coyote. The Ghost Dance was interpreted as preparation for an attack, and the location of this event was occupied in 1973 by AIM members. For 10 points, name this 1890 event  in which many Lakota Sioux were killed, one of the last conflicts of the Indian Wars.

ANSWER: Wounded Knee Massacre [accept Battle of Wounded Knee]

TB. In this work, a goatherd boy claims that his shepherd brother was beaten by a mysterious figure. Another character leaves his boots behind, only to find in the morning that they have been switched with another pair. That character spends his time bantering with his cohort on a bare stage containing only a tree. In this play, Pozzo returns blind with his slave Lucky in the second act. For 10 points, name this play in which Vladimir and Estragon spend two days in anticipation of the arrival of the title character, a work by Samuel Beckett.
ANSWER: Waiting for Godot
Bonuses

1. He worked under Lorenzo Ghiberti and learned to sculpt in the Gothic style. For 10 points each:

[10] Name this Florentine sculpture of Gattamelata and Zuccone.

ANSWER: Donatello [accept Donato di Betto Bardi]

[10] This famous work by Donatello shows the title bronze figure on top of the Goliath’s head.

ANSWER: David
[10] Although no longer in existence, this church stored Donatello’s works such as St. Mark and St. George.

ANSWER: Orsanmichele
2. One character in this work travels to the planet Tralfamadore while in a concentration camp. For 10 points each:
[10] Name this novel in which Pilgrim survives the firebombing of Dresden.

ANSWER: Slaughterhouse-Five
[10] This American author wrote Cat’s Cradle, Jailbird, and the short story “Harrison Bergeron” in addition to authoring Slaughterhouse-Five.
ANSWER: Kurt Vonnegut, Jr.
[10] In this Vonnegut novel, Doctor Paul Proteus joins the Ghost Shirt Society, a society bent on ending the technology obsession of the new world.
ANSWER: Player Piano
3. This property exists in dynamic and kinematic varieties and is measured in poise and stokes. For 10 points each:

[10] Name this property, the resistance to flow in a liquid.

ANSWER: Viscosity
[10] This quantity is used to determine whether a fluid’s flow is laminar or turbulent, and is calculated as the ratio of inertial forces to viscous forces.

ANSWER: Reynolds number
[10] Fluids that possess constant viscosity are known as this type of fluid, named after a British physicist.

ANSWER: Newtonian fluids

4. This work describes the stress-free society of Tau. For 10 points each:

[10] Name this anthropological work which examines the lives of young women on its namesake island country.

ANSWER: Coming of Age in Samoa
[10] This American anthropologist and the author of Coming of Age in Samoa also wrote Sex and Temperament in Three Primitive Societies. 

ANSWER: Margaret Mead
[10] This anthropologist challenged the findings in Coming of Age in Samoa, claiming that the native informants provided false information to Mead.

ANSWER: Derek Freeman
5. The colonists dressed up as the Mohawk Indians during this event. For 10 points each:

[10] Name this 1773 event supported by Sam Adams, in which a certain commodity was thrown into a New England harbor.

ANSWER: Boston Tea Party
[10] The Boston Tea Party resulted in the Intolerable Acts, which included this act that required the colonists to provide housing for the soldiers.

ANSWER: Second Quartering Act

[10] This 1774 act allowed the free practice of Catholicism in its namesake colony, and also defined the boundary for that colony.

ANSWER: Quebec Act 

6. Answer the following about a real-time strategy game. For 10 points each:

[10] This game allows civilizations such as the Mongols and Turks to be played, and it was developed by Ensemble studios in 1999. Its expansion, The Conquerors, was released in 2000.

ANSWER: Age of Empires II [accept Age of Kings]

[10] This civilization’s special unit is the Woad Raider, and their team bonus enables siege workshops to work 20 percent faster. This race is played in the William Wallace Campaign.

ANSWER: Celts
[10] This is the fully upgraded version of scout cavalry. It resembles the historical Polish -Lithuanian type, and is only available to civilizations like the Celts, Byzantines, and Goths.

ANSWER: Hussar
7. Matter in this state is composed of compact, degenerate quantum states formed from bosons. For 10 points each:

[10] Name this state of matter in which particles collapse into the lowest quantum state on a macroscopic level.

ANSWER: Bose-Einstein Condensate 

[10] Bose-Einstein condensate forms close to this temperature, about equal to negative 273 degrees Celsius.

ANSWER: Absolute zero
[10] The first success in creating Bose-Einstein condensate was when this element was cooled down to 200 nanokelvins.

ANSWER: Rubidium
8. Frederick the Great was a participant in this war, in which the ownership of Silesia was changed several times. For 10 points each:

[10] Name this war, which ended with the Treaty of Aix-la-Chapelle. Maria Theresa was a primary factor in starting this war. 
ANSWER: War of the Austrian Succession
[10] The War of the Austrian Succession was largely a matter of Salic Law surrounding the death of this father of Maria Theresa.

ANSWER: Charles VI
[10] Maria Theresa and Charles VI were members of this royal family that controlled the Holy Roman Empire for several centuries.

ANSWER: Hapsburg Dynasty

9. One character in this work is taken to a hill by Michael and shown the future of humankind. For 10 points each:
[10] Name this work in which Adam and Eve consume the fruit from the Tree of Knowledge and are banished from the Garden of Eden.
ANSWER: Paradise Lost
[10] Paradise Lost is a work by this man who also wrote a work about the blind title character, Samson Agonistes.
ANSWER: John Milton
[10] Milton also wrote this elegy upon the death of his friend Edward King, which states, “Weep no more, woeful Sheperds weep no more.”
ANSWER: “Lycidas”

10. He killed the bandit Periphetes, and pushed Sciron off a cliff into a giant turtle. For 10 points each:

[10] Name this Greek hero who killed the Minotaur with the help of Ariadne.

ANSWER: Theseus
[10] This father of Theseus and the king of Athens committed suicide when Theseus forgot to change the color of his sail.

ANSWER: Aegeus
[10] This wife of Aegeus tried to kill Theseus by poisoning him, but failed when Aegeus realized that Theseus was his son.

ANSWER: Medea
 11. A fatal disability associated with this disease is its chronic joint disease. For 10 points each:

[10] Name this genetic disease, often caused by a deficiency in Factor VIII, which prevents the blood from clotting properly.

ANSWER: Hemophilia
[10] Hemophilia spreads through this mode of inheritance, in whicha gene on the X chromosome requires one copy of the mutation for phenotypic expression in male, but two for female.

ANSWER: X-linked Recessive Inheritance [prompt on Sex-Linked]

[10] The Duchenne variety of this other X-linked recessive disease causes weakness and eventual deterioration of muscles.

ANSWER: Muscular Dystrophy
12. The “person of consequence” in this work is assaulted in his carriage by the ghost of the protagonist. For 10 points each:

[10] Name this short story which features the life and the death of Akaky Akakievich, who saves his wages in order to purchase the title garment.

ANSWER: “The Overcoat” [accept “The Cloak or “Shinel”] 

 [10] “The Overcoat” is a short story by this Russian author, wrote another story about a lost appendage, “The Nose.”

ANSWER: Nikolai Gogol
 [10] In this other short story by Gogol, the main character believes that he is the heir to the throne of Spain. It centers on the life of Poprishchin, who falls in love with Sophia. 

ANSWER: “Diary of a Madman” [accept “A Madman’s Diary”]

13. Aeolian Islands are located north of this island, which contains the Necropolis of Pantalica and the Valley of the Temples. For 10 points each:

[10] Name this largest island in the Mediterranean Sea, located across the Strait of Messina from the Italian region of Calabria.

ANSWER: Sicily [accept Sicilia]

[10] This tallest active volcano in Europe is located on the east coast of Sicily. Empedocles supposedly threw himself into it.

ANSWER: Mount Etna
[10] The Teatro Massimo is located in this capital of Sicily, which is situated near the Tyrrhenian Sea.

ANSWER: Palermo
14. This man defeated Ségolène Royal in 2007. For 10 points each:
[10] Name this current French President, who was previously the leader of the center-right UMP party.

ANSWER: Nicolas Sarkozy
[10] Sarkozy is also the Co-Prince of this principality, located in the Pyrenees between Spain and France.

ANSWER: Andorra
[10] This predecessor of Sarkozy as the President of France was against the war in Iraq, and is currently amid embezzlement charges from his tenure as mayor of Paris.

ANSWER: Jacques Chirac
15. The seder is observed on the first two of its nights. For 10 points each:

[10] Name this eight-day holiday, in which Jews celebrate the Exodus by consuming the unleavened bread called matzah.

ANSWER: Passover [accept Paysakh]
[10] Jews pour an extra cup of wine for this prophet during the Passover seder. He ascended to the heaven on a chariot of fire.

ANSWER: Elijah [accept Eliyahu]

[10] The youngest child is asked to recite these collective statements during the Passover seder, which begin with “Why is this night different from all other nights?”

ANSWER: Four Questions [accept Ma Nishtana]

16. This work’s composer reworked one of its themes into his oratorio The Seasons.  For 10 points each:

[10] Name this symphony nicknamed for a sudden loud chord in its second movement.

ANSWER: Symphony No. 94 in G Major [or “Surprise” Symphony]

[10] The “Surprise” Symphony was composed by this Austrian known as the “Father of the Symphony” and “Father of the String Quartet.”

ANSWER: Franz Joseph Haydn
[10] The “Surprise” Symphony is a member of this group of twelve symphonies which also includes those nicknamed “Miracle” and “Drumroll.”

ANSWER: The “London” Symphonies

17. This collection gained fame in the West after it was published with a preface by William Butler Yeats. For 10 points each:
[10] Name this Bengali collection of 103 poems whose title translates to “Song Offerings.”
ANSWER: Gitanjali
[10] Gitanjali is by this Indian author of The Post Office and The Home and the World.
ANSWER: Rabindranath Tagore
[10] Another author of Indian descent is this writer of The Namesake. She also wrote a collection of stories featuring characters such as Mr. Kapasi and Mrs. Das.
ANSWER: Jhumpa Lahiri [accept Nilanjana Sudeshna Lahiri]

18. This philosopher wrote Metaphysics and Nicomachean Ethics. For 10 points each:

[10] Name this Greek philosopher, educated by Plato, who developed deductive reasoning and the syllogism.

ANSWER: Aristotle
[10] This Aristotle work examines the elements of tragedy and introduces the concepts of catharsis and hamartia.

ANSWER: Poetics
[10] This collection of six books on logic written by Aristotle first introduced deduction and syllogisms.

ANSWER: Organon
19. His daughter Fatimah married Ali, and he triumphed at the Battle of the Ditch despite being outnumbered. For 10 point each:

[10] Name this final prophet and the husband of Khadija, who heard the words of God through the angel Gabriel at Mount Hira.

ANSWER: Muhammad
[10] Muhammad and his followers traveled to this city during hijra.

ANSWER: Medina [accept Yathrib]

[10] This chief advisor and the father-in-law of Muhammad accompanied him during hijra. He was the first convert to Islam and became the first Caliph after the death of Muhammad. 

ANSWER: Abu Bakr [accept Khalifat-ul-Rasul or Abdullah ibn Abi Qahafa]

20. This operation can be performed on a product of functions "by parts,” and the definite form of this operation is performed on a closed interval. For 10 points each:

[10] Name this operation equivalent to anti-differentiation by the fundamental theorem of calculus, which finds the area enclosed underneath a curve.

ANSWER: Integration [accept Integral]

[10] These sums named for a mathematician can be used to calculate a definite integral by fitting infinitely small rectangles under a curve and adding up their areas.

ANSWER: Riemann sums

[10] This value for a function over an interval can be calculated by taking the definite integral from a to b and then dividing by b minus a.

ANSWER: Mean Value [accept Average Value]

TB. These mixtures may be created using dissolution or salvation, and distillation can be used to separate their components. For 10 points each:

[10] Name these homogeneous mixtures consisting of a substance dissolved in a solvent.

ANSWER: Solutions

[10] This law, named for a British chemist, states that the solubility of a gas in a liquid is directly proportional to the partial pressure of that gas above the liquid.

ANSWER: Henry's law

[10] These substances can increase the solubility of nonpolar substances by adding a polar group to the molecule. Examples of them include soap and detergents.

ANSWER: Surfactants [accept Surface-active agents] 
